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(mm) yid a 13 (kg/cni)
0.5 50 8.0 6.50 54.97
1.0 9.0 12.0 10.50 88.79
1.5 13.0 17.0 15.00 126.85
20 160 | 19.0 | 17.50 147.99
2.5 19.0 21.0 | 20.00 169.14
3.0 220 | 240 | 23.00 194.51
5.0 34.0 37.0 | 35.50 300.22
1.5 41.0 450 | 43.00 363.65
10.0 53.0 55.0 | 54.00 456.67
12.5 — — — —

CBR=2.5mm(E A5&E) +-1370 X 100(%)= 12.34

B>

( 8.6 ) M

600

500

400

300

200

100

CBR=5.0mm(&E A5&F) +2030 % 100(%)= 14.78

2. 5.0mmE ARE

e
P
/| //
1 | 2 3 4 | 6 | 7 | 8 9 | 10 | 11 | 12 | 13
EA=(mm)
300.22 kg/crﬁ
CBR 14.78 %




FLE 53 # 8 TE

HEag: F_REREL

NO.3

RERE . £F12410826R
HERER: 215 tHK

1.HBRER
B B (mm) a i+t (o) b.&(e) et ERESD) RIEE®)
40.0 555.0 555.0 0 0 100.00
37.5 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 573.8 573.8 0.0 0.00 100.00
9.5 798.9 543.1 255.8 22.02 77.98
6.7 675.0 477.4 197.6 17.01 60.97
4.75 746.1 527.7 218.4 18.80 42.18
2.36 853.3 505.1 348.2 29.97 12.21
1.180 648.1 546.0 102.1 8.79 3.42
0.425 395.1 356.3 38.8 3.34 0.08
0.075 317.8 316.9 0.9 0.08 0
0.0 349.6 349.6 0.0 0 0
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